

UNDERGRADUATE PROGRAM 2021-221 Academic Year Fall 2021 Effective October 11, 2021

	Head Count	FULL-TIME S No. of Units	TUDENTS Ave. No. of Units	FTE	PA Head Count	ART-TIME S No. of Units	TUDENTS Ave. No. of Units	FTE	TO [`] Head Count	TAL STUDEN No. of Units	TS FTE
SCU Undergraduate Degree Students - Quarter	-		-		-				-		
First-year Students											
Arts & Sciences	716	11,744.75	16.40	716	1	9.00	9.00	0.75	717	11,753.75	716.75
Business	513	8,347.50	16.27	513					513	8,347.50	513.00
Engineering	321	5,796.50	18.06	321					321	5,796.50	321.00
Total - First-year Students	1,550	25,888.75	16.70	1,550	1	9.00	9.00	0.75	1,551	25,897.75	1,550.75
Transfer Students											
Arts & Sciences	146	2,437.50	16.70	146	3	28.00	9.33	2.33	149	2,465.50	148.33
Business	61	960.00	15.74	61					61	960.00	61.00
Engineering	24	423.00	17.63	24					24	423.00	24.00
Total - Transfer Students	231	3,820.50	16.54	231	3	28.00	9.33	2.33	234	3,848.50	233.33
Continuing Students - Main Campus											
Arts & Sciences	2,046	34,764.00	16.99	2,046	59	485.50	8.23	40.46	2,105	35,249.50	2,086.46
Business	1,122	19,396.50	17.29	1,122	28	242.00	8.64	20.17	1,150	19,638.50	1,142.17
Engineering	644	11,177.50	17.36	644	23	196.00	8.52	16.33	667	11,373.50	660.33
Total - Continuing Students - Main Campus	3,812	65,338.00	17.14	3,812	110	923.50	8.40	76.96	3,922	66,261.50	3,888.96
Continuing Students - External Study											
Arts & Sciences	97	1,843.00	19.00	97					97	1,843.00	97.00
Business	75	1,434.00	19.12	75					75	1,434.00	75.00
Engineering	8	155.00	19.38	8					8	155.00	8.00
Total - Continuing Students - External	180	3,432.00	19.07	180	0				180	3,432.00	180.00
Total SCU Degree Students											
Arts & Sciences	3,005	50,789.25	16.90	3,005	63	522.50	8.29	43.54	3,068	51,311.75	3,048.54
Business	1,771	30,138.00	17.02	1,771	28	242.00	8.64	20.17	1,799	30,380.00	1,791.17
Engineering	997	17,552.00	17.60	997	23	196.00	8.52	16.33	1,020	17,748.00	1,013.33
Total - SCU Degree Students	5,773	98,479.25	17.06	5,773	114	960.50	8.43	80.04	5,887	99,439.75	5,853.04
SCU Undergraduate Non Degree Students											
Main Campus					2	9.00	4.50	0.75	2	9.00	0.75
External Study											
Exchange Programs	6	86.00	14.33	6					6	86.00	6.00
Total - Non Degree Students	6	86.00	14.33	6	2	9.00	4.50	0.75	8	95.00	6.75
Total Undergraduate Students	5,779	98,565.25	17.06	5,779	116	969.50	8.36	80.79	5,895	99,534.75	5,859.79

NOTES

1. SCU degree students include students admitted to the undergraduate degree program.

2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.

3. Transfers include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.

4. Number of units does not include units from audited classes.

5. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program. For students enrolled in 12 units or more, FTE = 1.0. Otherwise, FTE = number of units / 12.



UNDERGRADUATE PROGRAM - EXTERNAL STUDY 2021-221 Academic Year Fall 2021 Effective October 11, 2021

		FULL-TIME S	TUDENTS		PA	ART-TIME STUD	DENTS	TOTAL STUDENTS		
	Head	No. of	Ave. No.		Head	No. of Av		Head	No. of	
	Count	Units	of Units	FTE	Count	Units of	Units FTE	Count	Units	FTE
SCU Undergraduate Degree Students - External Study										
College of Arts & Sciences										
Quarter programs	1	19.00	19.00	1				1	19.00	1.00
Semester programs	95	1,805.00	19.00	95				95	1,805.00	95.00
Panetta Institute	1	19.00	19.00	1				1	19.00	1.00
Total - Arts & Sciences	97	1,843.00	19.00	97	0			97	1,843.00	97.00
Leavey School of Business										
Quarter programs										
Semester programs	75	1,434.00	19.12	75				75	1,434.00	75.00
Total - Leavey School of Business	75	1,434.00	19.12	75	0			75	1,434.00	75.00
School of Engineering										
Quarter programs	1	19.00	19.00	1				1	19.00	1.00
Semester programs	7	136.00	19.43	7				7	136.00	7.00
Total - School of Engineering	8	155.00	19.38	8	0			8	155.00	8.00
Total SCU Undergraduate Degree Students - External Study by Program	I									
Quarter programs	2	38.00	19.00	2				2	38.00	2.00
Semester programs	177	3,375.00	19.07	177				177	3,375.00	177.00
Panetta Institute	1	19.00	19.00	1				1	19.00	1.00
Total SCU Undergraduate Degree Students - External Study	180	3,432.00	19.07	180	0			180	3,432.00	180.00

NOTES

1. For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.

2. For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.

3. Number of units does not include units from audited classes.

4. Units shown in Totals for the College and Schools are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



GRADUATE PROGRAMS - QUARTER 2021-221 Academic Year Fall 2021 Effective October 11, 2021

	F Head	TUDENTS Ave. No.		PART-TIME STUDENTS Head No. of Ave. No.				TOTAL STUDENTS Head No. of		rs	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
College of Arts & Sciences											
Pastoral Ministries (M.A.)	4	40.00	10.00	5.00	12	48.00	4.00	6.00	16	88.00	11.00
Pastoral Ministries Distance Learning (M.A.)	8	64.00	8.00	8.00	29	116.00	4.00	14.50	37	180.00	22.50
Non Degree - Pastoral Ministries					14	56.00	4.00	7.00	14	56.00	7.00
Total - College of Arts & Sciences	12	104.00	8.67	13.00	55	220.00	4.00	27.50	67	324.00	40.50
Leavey School of Business											
J.D./MBA Combined Degree	1	54.00	10.80	6.00	0	53.00	5.89	5.89	1	107.00	11.89
J.D./MSIS Combined Degree											
Executive MBA (EMBA)	50	737.00	14.74	50.00	6	48.00	8.00	5.33	56	785.00	55.33
Master of Business Administration (M.B.A.)	100	1,122.00	11.22	124.67	147	938.00	6.38	104.22	247	2,060.00	228.89
Master of Business Administration (M.B.A.) (on-line)	61	702.00	11.51	78.00	222	1,528.00	6.88	169.78	283	2,230.00	247.78
Master of Business Administration (M.B.A.) STEM	3	34.00		3.78	4	32.00		3.56	7	66.00	7.33
Master of Science - Business Analytics (M.S.)	43	499.00	11.60	55.44	28	192.00	6.86	21.33	71	691.00	76.78
Master of Science - Business Analytics (M.S.) (on-line)					6	48.00	8.00	5.33	6	48.00	5.33
Master of Science - Finance & Analytics (M.S.)	23	273.00	11.87	30.33	20	116.00	5.80	12.89	43	389.00	43.22
Master of Science - Finance & Analytics (M.S.) (online)	9	102.00	11.33	11.33	28	188.00	6.71	20.89	37	290.00	32.22
Master of Science - Finance (M.S.)											
Master of Science - Marketing (M.S.) (on-line)	28	282.00	10.07	31.33	33	178.00	5.39	19.78	61	460.00	51.11
Master of Science - Information Systems (M.S.I.S.)	33	337.00	10.21	37.44	46	298.00	6.48	33.11	79	635.00	70.56
Non Degree - Business											
Post Baccalaureate CAAP	24	398.00	16.58	33.17	5	28.00	5.60	2.33	29	426.00	35.50
Total - Leavey School of Business	375	4,540.00	12.11	461.50	545	3,647.00	6.69	404.44	920	8,187.00	865.94
School of Engineering											
Doctor of Philosophy (Ph.D.)	25	201.00	8.04	25.13	34	58.00	1.71	7.25	59	259.00	32.38
Engineer's Degree					2	2.00	1.00	0.25	2	2.00	0.25
Master of Science (M.S.)	371	3,226.00	8.70	403.25	160	643.00	4.02	80.38	531	3,869.00	483.63
Engineering Certificate	2	18.00	9.00	2.25	7	26.00	3.71	3.25	9	44.00	5.50
Non Degree - Engineering					7	25.00	3.57	3.13	7	25.00	3.13
Total - School of Engineering	398	3,445.00	8.66	430.63	210	754.00	3.59	94.25	608	4,199.00	524.88



GRADUATE PROGRAMS - QUARTER 2021-221 Academic Year Fall 2021 Effective October 11, 2021

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS		
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
School of Education & Counseling Psychology											
Doctorate in Social Justice Leadership (Ed.D)	19	190.00	10.00	21.11					19	190.00	21.11
Master of Arts (M.A.) - Counseling	14	133.50	9.54	14.83	15	76.50	5.10	8.50	29	210.00	23.33
Master of Arts (M.A.) - Counseling Psychology	229	2,132.50	9.31	236.94	153	805.50	5.26	89.50	382	2,938.00	326.44
Master of Arts (M.A.) - Educational Administration	11	102.00	9.27	11.33	36	192.00	5.33	21.33	47	294.00	32.67
Master of Arts Teaching (M.A.T.) Multiple Subject	33	380.00	11.52	42.22	20	108.00	5.40	12.00	53	488.00	54.22
Master of Arts Teaching (M.A.T.) Single Subject	23	273.00	11.87	30.33	33	168.00	5.09	18.67	56	441.00	49.00
MAT Clear Teach Catholic School Teach					1	8.00	8.00	0.89	1	8.00	0.89
Bilingual Cross-Cult Language Certificate											
Catholic School Leadership Certificate											
Alternative and Correctional Certificate											
Clear Teaching Certificate											
Credential for 6+ yrs Catholic School Teachers Certificate											
Preliminary Admin Service Certificate					4	10.00	2.50	1.11	4	10.00	1.11
Preliminary Multiple Subj Teach Pro Catholic School Teach Certificate					7	53.00	7.57	5.89	7	53.00	5.89
Preliminary Single Subj Teach Pro Catholic School Teach Certificate					2	8.00	4.00	0.89	2	8.00	0.89
Non Degree - Counseling Psychology											
Non Degree - Education											
Total - School of Education & Counseling Psychology	329	3,211.00	9.76	356.78	271	1,429.00	5.27	158.78	600	4,640.00	515.56
Total SCU Graduate Students - Quarter	1,114	11,300.00	10.14	1,261.90	1,081	6,050.00	5.60	684.97	2,195	17,350.00	1,946.88

NOTES

1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units.

2. In the Business post baccalaureate CAAP program, student FTE is based on 12 units.

3. In Business graduate programs, student FTE is based on 9 units.

4. In Engineering graduate programs, student FTE is based on 8 units.

5. In Education and Counseling Psychology programs, student FTE is based on 9 units.

6. In post baccalaureate and graduate programs, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program. EMBA students are an exception. This is a full-time cohort program in which FTE equals number of students.



GRADUATE PROGRAMS - SEMESTER 2021-221 Academic Year Fall 2021 Effective October 11, 2021

		ULL-TIME S	TUDENTS Ave. No.		PART-TIME STUDI Head No. of Ave			1		TOTAL STUDENTS Head No. of	
	Head Count	No. of Units	of Units	FTE	Count	Units	of Units	FTE	Head Count	Units	FTE
SCU Graduate Students - Semester and Special Programs	oount	01110	or or new		oount	01110	or or new		oount	CTING	
School of Law											
Juris Doctor (J.D.) - Day	602	8,564.00	14.23	713.67	1	10.00	10.00	0.83	603	8,574.00	714.50
Juris Doctor (J.D.) - Evening	81	818.00	10.10	102.25	4	20.00	5.00	2.50	85	838.00	104.75
Juris Doctor (J.D.) - Day Study Abroad											
Juris Doctor (J.D.) - Evening Study Abroad											
JD/MBA Combined Degree	6	56.00	10.60	6.22	6	41.00	6.83	4.56	12	97.00	10.78
JD/MSIS Combined Degree											
Master of Laws (L.L.M.)					8	66.00	8.25	5.50	8	66.00	5.50
Master of Laws (L.L.M.) Abroad											
Master of Legal Studies (MLS) - Corporate Compliance (on-line)											
Non Degree Exchange	9	108.00	12.00	9.00					9	108.00	9.00
Non Degree											
Total - School of Law	698	9,546.00	13.68	831.14	19	137.00	7.21	13.39	717	9,683.00	844.53
Jesuit School of Theology											
Master of Divinity (M.Div.)	32	462.00	14.44	51.33					32	462.00	51.33
Master of Theological Studies (M.T.S.)	11	129.00	11.73	14.33	5	22.00	4.40	2.44	16	151.00	16.78
Master of Theological Studies (M.T.S.) (on-line)					12	58.00	4.83	6.44	12	58.00	6.44
Master of Theology (Th.M.)					2	9.50	4.75	1.06	2	9.50	1.06
Master of Theology (Th.M.) - Candidates	1	9.00	9.00	1.00					1	9.00	1.00
Bachelor of Sacred Theology (S.T.B.)											
Licentiate of Sacred Theology (S.T.L.)	24	247.00	10.29	27.44	2	6.00	3.00	0.67	26	253.00	28.11
Licentiate of Sacred Theology (S.T.L.) - Candidates											
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)											
Doctor of Sacred Theology (S.T.D.)	14	132.50	9.46	14.72					14	132.50	14.72
Doctor of Sacred Theology (S.T.D.) - Candidates	5	47.50	9.50	5.28					5	47.50	5.28
Master of Arts/Master of Divinity (M.A./M.Div.)											
New Directions					8	0.00			8		
Non Degree					7	15.00	2.14	1.67	7	15.00	1.67
Total - Jesuit School of Theology	87	1,027.00	11.80	114.11	36	110.50	3.07	12.28	123	1,137.50	126.39
Total SCU Graduate Students - Semester and Special Programs	785	10,573.00	13.47	945.25	55	247.50	4.50	25.67	840	10,820.50	970.92

NOTES

1. In the School of Law, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units. The JD/MBA, JD/MSIS, and MLS programs are based on 9 units.

2. In the Jesuit School of Theology, student FTE is based on 9 units.

3. In Law and JST, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program.

4. Number of units enrolled in does not include units from audited classes.

5. Students in non-degree programs or in JST's New Directions program are always considered part-time.

6. In the School of Law, the on-line Master of Legal Studies program operates on a quarter calendar. JST offers a January Intersession which operates on a quarter schedule Winter term.



OVERALL ENROLLMENT 2021-221 Academic Year Fall 2021 Effective October 11, 2021

	FULL-TIME STUDENTS					PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of			
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE		
SCU Enrollment by Program													
Undergraduate Programs													
College of Arts & Sciences	3,005	50,789	16.90	3,005	63	523	8.29	44	3,068	51,312	3,049		
Leavey School of Business	1,771	30,138	17.02	1,771	28	242	8.64	20	1,799	30,380	1,791		
School of Engineering	997	17,552	17.60	997	23	196	8.52	16	1,020	17,748	1,013		
Non Degree Students	6	86	14.33	6	2	9	4.50	1	8	95	7		
Total Undergraduate	5,779	98,565	17.06	5,779	116	970	8.36	81	5,895	99,535	5,860		
Graduate Programs - Quarter													
College of Arts & Sciences	12	104	8.67	13	55	220	4.00	28	67	324	41		
Leavey School of Business	375	4,540	12.11	462	545	3,647	6.69	404	920	8,187	866		
School of Engineering	398	3,445	8.66	431	210	754	3.59	94	608	4,199	525		
School of Education & Counseling Psychology	329	3,211	9.76	357	271	1,429	5.27	159	600	4,640	516		
Total Graduate Programs - Quarter	1,114	11,300	10.14	1,262	1,081	6,050	5.60	685	2,195	17,350	1,947		
Graduate Programs - Semester and Special Programs													
School of Law	698	9,546	13.68	831	19	137	7.21	13	717	9,683	845		
Jesuit School of Theology	87	1,027	11.80	114	36	111	3.07	12	123	1,138	126		
Total Graduate Programs - Semester	785	10,573	13.47	945	55	248	4.50	26	840	10,821	971		
Total Enrollment	7,678	120,438	15.69	7,986	1,252	7,267	5.80	791	8,930	127,705	8,778		

NOTES

1. Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

2. Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



OVERALL ENROLLMENT 2021-221 Academic Year Fall 2021 Effective October 11, 2021

	F	TUDENTS		PA	RT-TIME S	TUDENTS	1	TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Enrollment by College/School											
College of Arts & Sciences	0.005	50 700	40.00	0.005	00	500	0.00		0.000	54.040	0.040
Undergraduate - Degree Seeking	3,005	50,789	16.90	3,005	63	523	8.29	44	3,068	51,312	3,049
Graduate	12	104	8.67	13	55	220	4.00	28	67	324	41
Total College of Arts & Sciences	3,017	50,893	16.87	3,018	118	743	6.29	71	3,135	51,636	3,089
Leavey School of Business											
Undergraduate - Degree Seeking	1,771	30,138	17.02	1,771	28	242	8.64	20	1,799	30,380	1,791
Graduate	375	4,540	12.11	462	545	3,647	6.69	404	920	8,187	866
Total Leavey School of Business	2,146	34,678	16.16	2,233	573	3,889	6.79	425	2,719	38,567	2,657
School of Engineering											
Undergraduate - Degree Seeking	997	17,552	17.60	997	23	196	8.52	16	1,020	17,748	1,013
Graduate	398	3,445	8.66	431	210	754	3.59	94	608	4,199	525
Total School of Engineering	1,395	20,997	15.05	1,428	233	950	4.08	111	1,628	21,947	1,538
Non Degree Students - Undergraduate											
Total Undergraduate - Non-degree Seeking	6	86	14.33	6	2	9.00	4.50	1	8	95	7
School of Education & Counseling Psychology											
Undergraduate - Degree Seeking											
Graduate	329	3,211	9.76	357	271	1,429	5.27	159	600	4,640	516
Total School of Education & Counseling Psychology	329	3,211	9.76	357	271	1,429	5.27	159	600	4,640	516
School of Law											
Undergraduate - Degree Seeking											
Graduate	698	9,546	13.68	831	19	137	7.21	13	717	9,683	845
Total School of Law	698	9,546	13.68	831	19	137	7.21	13	717	9,683	845
Jesuit School of Theology											
Undergraduate - Degree Seeking											
Graduate	87	1,027	11.80	114	36	111	3.07	12	123	1,138	126
Total Jesuit School of Theology	87	1,027	11.80	114	36	111	3.07	12	123	1,138	126
Total Enrollment	7,678	120,438	15.69	7,986	1,252	7,267	5.80	791	8,930	127,705	8,778

NOTES

1. Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

2. Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.